T4 APPLYING PROPRRHRS Of SIMILAR TRIANELES
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1) AHARisadilation of AHET by a factor of 4.

a) Find the side lengths of AHAR.
HA=3>“:\r @) HR = 5’\"““@ AR = ?X*"@
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b) Find the remaining side lengths.

EA=_12-3 "@) TR=_20"5 ‘“@

2) Determine if AHET ~ AHAR. If your answer is yes, include the property and similarity ratio.
If your answer is no, explain why not. Show work to justify your answer.
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3) If the triangles are similar, what other information do you know that is not marked in your

diagram. (Hint: In similar triangles, you know that angles are (}Q[gk Uent and sides are
’PYD?OYﬁ ona . What have we not talked about yet?)

Gince the &'s ove ™, thhe Corvesponcl L's are =
OLHELH @) HET= LA & LHE Y LR

4) Based off of the information above, determine which proportions are true and which ones

are false.
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There are two different rules we can use to solve for missing sides: bmns\’ezyo 5
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Example I: Setupa propoltgon and solve for LS. Examplg ®Set up a proportioz and solve for ML.
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Example 3: Set up a proportion and solve for BK. Example 4: Set up a proporii olve for CB. .
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Example 5: How is this diagram different from the ones above?
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Example 6: Solve for BD. Example 7: Solve for BD. 2 X
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